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1. Which of the following is not usually found
in both thesis and research articles?

(A) Introduction and
Acknowledgements

(B) Method and References

(C) ISSN and Impact Factor

(D) Results and Conclusions

2. Identify the correct pair related to research
from the following:

(A) Rationale of the study — Emergence
of the study

(B) Methods — Procedures

(C) Abstract — Summary points

(D) Discussion — Generalizations

3. The parameters for ‘National Institutional
Ranking Framework’ in India are:

(A) Teacher Student ratio; Research
Projects; Placement; UG, PG and
Ph.D. Programmes; Outreach
Programme

(B) Teaching, Learning and Resources;
Perception; Views of Stakeholders;
UG, PG Students; Resources

(C) Teaching and Learning; Research;
Views of Students; Research Projects;
Funding; Information and
Communication Technologies;
Perception

(D) Teaching, Learning and Resources;
Research and Professional Practices;
Graduation Outcomes; Outreach and
Inclusivity; Perception

4. External criticism in the evaluation
of source materials for historical
research refers to:
(A) Usefulness of the source material
(B) Ease of access to the material and its
content
(C) Accuracy and trustworthiness of the
content
(D) Authenticity and genuineness of the
document

1. f9x Sfafie @ab FF ¢ sEReEs
AT AMFTS (7! T 772
(A) ol @32 e
(B) “M&fe U3 ©P@
(C) ISSN @R BI1F (34
(D) TEITe @R TR

2. fasfiiewf @ sHdw e 3@
A (et Bize we:
(A) @ o[ T I5iS — «siaee™ o) W
IS
(B) (12w — 2ffoes
(C) SHRPEIE — ANIE 2IEoA
(D) TCABPI — (EelIAETIB &

3. SIFeI@ WA EEOHEHAR it
EFRNETF -7 AN 2=
(A) BT 2@ SqATS; olRRedl 25w,
Frfead; 38fe, foifer war fo193p.fC.
(RS, TPkl 07D
(B) Tofbe, sfek e [e1e™; AReieRe;
foCe =@ EoaErEn; 2efe, e
0T ; RO
(C) Bofir st aifeik; feiib; fete o
ﬁt@ﬁ?‘f{; T dree; wifes;
BNTICTHT W F A
GG ; ARG
(D) 5, sifek s feimes; 7o e
ATEANE  ANFH e, AN
SITHH; S SIG SAghiTe;
AN

4. afsnfe SiaRAE TR E  GHGIAT
%ﬁﬁ@ﬂ: JEICO (IR :
(A) T TAMIR LG 1Tl
(B) Toiwiel @R ¥ KTt eeTerel
(C) e s@iwse! ¥k fepictsre!
(D) It w2 Teret @3 SIFfasTel
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5. Independent variable in research:
(A) Can be manipulated
(B) Remains constant for a study
(C) Cannot be measured
(D) Can only be counted

6. A learning model that combines
conventional face to face communication with

non-conventional electronically produced learning
inputs is called:

(A) Constructivist learning
(B) ICT based learning
(C) Blended learning

(D) Open learning

7. Asper PWCresearch organization’s global
survey, the financial growth of
Entertainment and Media industry in
future will be powered by:

(A) Advertising

(B) Consumer Spending
(C) Spread of Podcast

(D) Satellite Communication

8. In a group of members with different
backgrounds, the barrier to communication among
them primarily rises from:

(A) Dress design

(B) Ethnicity
(C) Colour blindness
(D) Food habit

9. The expression of emotions by men and

animals as stated by experts like Charles Darwin
established:

(A) Verbal Communication
(B) Non-verbal Communication
(C) Speech Communication
(D) Visual Communication

5. SR BT S z@:
(A) @ bifers 21 AR

(B) (e siqaes 27 A
(C) = I =1
(D) ©g@ o

6. 2bfeTe AR IR IR e
a9 T (@ O ot (ofF =3,
OICF 6Tl 2

(A) T3S il
(B) ICT fefes M
(©) @y frw

(D) & (€t sl

7. SR A PWC-3 O30 (@RS Sies! oivesn

(olt2 @ o FAce TRy @ gasaw’ e stfos
e =ifexiret 23

(A) Re=i7e (2

(B) ale(da I3 (AT
(C) ATHIEGA I (A
(D) Tolaiz @isialel (A

8. o fom »ibgfil (e =mi sonr e sifde
G5 TR e dfeTaTor d4ia T 2vz:

(A) CoAPIs-oifR=rsrl
(B) wifeTal (ethnicity)
(C) et

(D) =mren

9, fRTARTE, (T BIF TIORH, WA @ 2MTa
SR AR 2P JCeC:

(A) GRS A==

(B) GRS A
(C) 35w fefes Aax
(D) weiifofes Aew



10. The documentary film making movement
that began in France during 1960’s is known as
(A) Film Noir
(B) Direct Films
(C) Unscripted Movie
(D) Cinema Verité

11. In a collaborative teaching-learning
environment, the teacher plays the role of:
(A) A facilitator
(B) A friend
(C) A guide
(D) A trainer

12. The criteria against which
students’ progress of learning in
different curricular areas could be
assessed are known as:

(A) Learning Contents
(B) Learning Objectives
(C) Learning Outcomes
(D) Learning Experiences

13. Identify the characteristics of aconstructivist
classroom from the following:

I. Community of learners are present in the
class.
II. Classroom environment is competitive.
III. Classroom environment is
interactive and supportive.
IV. Classroom is dominated with
empowered teacher.

V. Classroom environment is
cooperative and activity based.
Choose the most appropriate answer from the
options given below:
(A) 1L IV, V
(B) IL 111, IV
O LI,V
D) IL1V,V

00

10. 1960-93 WIE T ©AHE AR @
SICWIET F ZERE, ©IF I
(A) T e
(B) Ti2aS
(C) SPEFCbe Yo
(D) Pl (et

11. WEPmI @ ipieeees AR o RETs
AT P76 (@ SRRl #AeTe e
REGE
(A) 9FG TRROTILI
(B) e 3%
(C) GF& CGRYAT
(D) gFe A=

12. ffen e oo i R 2sifs
HTE IR Gy (& 5 [ARSIR 5190 11 2, 0] 251
(A) P Regae
(B) fria Srmly
(C) PR sifgelist/vetizrel
(D) iz Sifoess]

13. ‘sl iz -a3 R Esfer T Tiw
oeq 74 | S SRR Nie w:
1. RIREPTE ST TAfES 2
1. FeR™ AR afsrifareiE
I FhEea s seffasm-wges e
LTS
V. wifigeie Fwal SR F99 I
V. SRR AR Rifere e @3 St
Al
fsferiie feare (A e Teg e S
(A) 1,1V, V
(B) 1L, IIL, IV
O LI,V
(D) IL 1V, V
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14. A five-credit course with two credits
assigned for lectures, one credit for tutorial and
two credits for fieldwork shall have

the following:

(A) Two 1-hour lectures, one 1-hour
tutorial and two 4-hour fieldwork
per week

(B) Two 1-hour lectures, one 2-hour
tutorial and two 3-hour fieldwork per
week

(C) Two 3-hour lectures, one 1-hour
tutorial and two 4-hour fieldwork per
week

(D) Two 4-hour lectures, one 2-hour
tutorial and two 2-hour fieldwork per
week

15. In the context of students’ appraisal,
‘PARAKH’ stands for:

(A) Performing, Accelerating, Reviving,
Aspiring and Knowing Humanistic
Approach

(B) Performance Assessment, Review,
and Analysis of knowledge for
Holistic Development

(C) Performance Accreditation, Review
and Acquiring Knowledge for Human
Development

(D) Performing, Assessing, Reviewing
and Aspiring to know Development
of Humans

14. 6 (T @CT 7 (F s FTHE, IF (Fes

BTGIfE, oI 7 (F Es Rroend-« A AR, O 25

(A) 2fs ALz 1 70 7' EoE, 93

1 9617 Bemifae ek w6 4 96
froenF

(B) 2fo AYIZ 1 90 ¥’ @64, @b

2 9517 GewiRmE @ 9 3 2%
froend

(C) =AfoAAIE 3 AT YT @I, 90

1 961 oI @R 7' 4 961

froenF

(D) fe ARIE 4 7T W' EFoE, 90

2 95w Hewifae gk v 2 96
froenF

e

15. 219 EORER (@S ‘PARAKH® Al S
I O] Ze:
(A) ATTRR, e, [eEfer,
SRR S (@R REnEheE
AL
(B) AATFAC™ SIS, (e wrie
et o) e w9 @SS
(TSHATEG
(C) ATFAT SFCF oo, [fes
IS SRR s w9 R
(TS0
(D) “N=fiik, speAfR, sl =ne
SRR T Nl (CSHeTs o_
IEpoE
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16. A certain country has 504 universities and
25951 colleges. These are categorised into Grades
L, I, and III as shown in the given pie

charts.

What is the percentage, correct to one
decimal place, of higher education
institutions (colleges and universities)
that falls into Grade II1?

16. @3 e oot 504 & Rwfawem @x:
25951 o Txifmye qcE | 9ufeTs AR I @ 1,
11, 1I-(o (=m0 230z |

farsl efewiea (wafme a3 Reifmem)
*oadl Foel @ [1-9 e, b 93 Wi BiE
AfIFOIE A e |

Universities Colleges
@ Grade | & Grade I
Q Grade I & £ Grade II
* Grade 11T 63% \ » Grade 11T
v &
6 & B T RIfRmER
@ Gradel Grade [
(A) 227 O Grade I " & Grade II
(B) 23.7 #* Grade 1T 68% » Grade III
(C) 150 : 7% =
(D) 668 N
(B) 237
(C) 150
(D) 668

17. The data given in the following table
summarizes the monthly budget of an average
household. The approximate percentage of the
monthly budget not spent on savings is:

o

17. Fsferie wifemm @eal el @l 922
ARG PR cena MERG ARPRI | [P
JICSHA, AW ARS, T *SiH Zo7:

Category Amount (Rs.) I ﬂ?%W‘Y(Rs.)
Food 4,000 qICA(Food) 4,000
Clothing 1,200 CHAMTCR 1,200
Rent 2,000 ©ITIte 2,000
Savings 1,500 AL 1,500
Other Expenses 1,800 S 490 1,800

(A) 10% (A) 10%

(B) 14% (B) 14%

(©) 81% (€) 81%

(D) 86% (D) 86%
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18. Match Lisz-1 with List-I1 :

List-1
(Data Type)

(a) Nominal data

List-11
(Data Description)
(1) can add and substract
but cannot multiply
and divide.

(b) Ordinal data (i1) can add, substract,
multiply and divide.
(c) Interval data

(d) Ratio

(iii) can arrange orderly.

(iv) cannot perform
mathematical
operations.

Choose the most appropriate answer from
the following options:

Codes:

@ (b (© (@
A (@ a3 (v)
B) Gv) Gi) @) (i)
© Gy (@ av) (i)
D) Gi)) G @@ (v)

18. @ @3 Ofee-Il 97 e ANes [y

P
e eIl
(CTT! Biz) (CTBIE )
(a) SIS (TH (i) @9 93 el Face
Mita e wd «3g olel
FA W A
(b) ST (OO (ii) cial, el e @3
©lo 1 TN
(c) TBIASIA (U1 (iii) TP Tl T |
(d) @f*re @iv) slifafess e
(operations) F41 T
ol
fmfartie kel (@ 7&K Toge Tea
bfere w2 :
JZJ :
@ O® © @
A () G i) (v)
B) @Gv) @) (G  >GD)
©) (i) (iv)  (iii)
(D) @Gi) @Gy @G 3[v)



19. In a survey, 300 respondents were asked
whether they own a vehicle or not. If yes, they
were further asked to mention whether
they own a car or scooter or both. Their

responses were tabulated below:

Men Women
Car 40 34
Own vehicle | Scooter | 30 20
Both 60 46
Do not own vehicle 20 50

What percentage of respondents do
not own a scooter?

(A) 83.33
(B) 48
(C) 55
(D) 68

00

19. @3 ACS 300 TGO el w1 =
I e TieRIes It 5l (712 | W 25 23, ©iva
sJerar ferearotl 41 Zeafest, (7SI SNfE A1 %0
Y512 =tE & 91| oivra Teawlr wAfiiae Tiwa
ARfACe (e 27 |

oFR | e
QI 40 34
ferers T | o 30 20
LG 60 46
[EERRICEIETIEIES 20 50
o T TEAMIO FOIA (72 ?
(A) 83.33

(B) 48

(C) 55

(D) 68
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20. Given below are two statements: One is
labelled as Assertion (A), and other is labelled as
Reason (R).

Assertion(A) : Data Governance sets internal
standard data policies that apply
to how data are gathered, stored,
processed and disposed of.

Reason (R) : Data Governance maintains
certain principles to make
effective data governance which
are: (i)  Accountability;
(i1) Standardized rules and
regulations; (ii1) Data
stewardship; (iv) Data quality
standards; and (v) Transparency.

In the light of the above statements, choose the

most appropriate answer from the following
options :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are wrong
(C) Only (A)iscorrectand (R)is wrong

(D) Only (A) is wrong and (R) is not
proper explanation of (A)

20. |H vl ﬁ@ﬂ'ﬂ (statements) GFHF TG
(Assertion) (A) S=316¢F Y& (Reason) (R) &7l
Rz |

TET (A) : (UH ST Sreredel Wi (W5
Tz GI6 FE-T1 (O e,
e, AfeF @R R T
e F |

JE(R) : (©6! o937 oSN z (i)
wiftg; (ii) Senfs ¢ Rfgaaer,
(iii ) (OB SGATEMI91; (iv) (B! @IS

G (v) T |
fxfiiie enel (A Soge Ter @3

(A) (A) @R (R) MG w7 @R (R), (A)-43
o< qefert

(B) (A) 932 (R) W12 oIem
(C) ©Y (A) ¥a IR (R) T&%

(D) ©4 (A) W7 @R (R), (A)-97 7S
Jofell =7
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21. Find the missing character in the diagram
from the given alternatives:

5 3
7 144(49 4
2\.?|36/5
8 1
(A) 100
(B) 81
(C) 64
(D) 121

22. Ifinacertainlanguage, POPULAR
is coded as QPQVMBS, which
word would be coded as GBNPVT?

(A) FAMOSU
(B) FAMOUS
(C) FASOUM
(D) FOSAUM

23. Find out the missing letter in the

00

21. e e SRl @2bd (A S
RN IR e

5 3

(A) 100
(B) 81
(C) 64
(D) 121

22. I @=e©EE, POPULAR-F QPQVMBS

(FICT GRS 41, ©IREET GBNPVT-(F (I (0T

GRIKICE:

(A) FAMOSU
(B) FAMOUS
(C) FASOUM
(D) FOSAUM

23, ove e (A ARl Sl oe S

table from the given alternatives: T e
A|lZ|B A|Z|B
Y| C| X Y| C
? I W|E ? E
(A) B (A) B
(B) D (B) D
€ K (C) K
D) Vv D) V
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24. Find the missing character in the diagram
from the given alternatives:

AT (4T

an
[

29 9 W 213
(A) 117
(B) 36
(C) 32
(D) 49

25. From the following, find out the group of
letters which is different from the others:
(A) EGJK
(B) PQST
(C) IKNO
(D) MORS

26. Ina group of cows and hens, the number of
legs are 14 more than twice the number of heads.
The number of cows is:

(A) 5
(B) 7
(©) 10
(D) 12

X-12

24. =we 75 (A @b S H<Anfbe T

i anyanNan

(A) 117
(B) 36
(C) 32
(D) 49

25. ffeiowi (A @ orw @ e SeiiE
(s fo ©f fefy e
(A) EGIK
(B) PQST
(C) IKNO
(D) MORS

26. 3 9ISt @R TR Wee, AR R ML=

A Qe (AGF 14 @ | sieig 12 281

(A) 5
(B) 7
(©) 10
(D) 12
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27. Consider the diagram given below: 27. it el @Iba [ewa T
English 3{(&?\\5
¢% Hindi g% &
Mathematics sifef® »

Five hundred candidates appeared in an sioee =15 3eafs, B @3k eificed
examination comprising testin English, Hindi and AT (7 | @1 lE e AR
Mathematics. The diagram contains the number of 7Y 26 AW AL (7 | FAACT 46
candidates who failed in different tests. Whatis the o e 7@ e 2dioE o 2
percentage of candidates who failed in at least two T
subjects? (A) 0078

(A) 0-078 (B) 10
(B) 1-0 ©) 638
(C) 68 (D) 7-8
(D) 7-8
28. How many triangles are there in 28. e foca Foafe] qoe q@R?
the figure below? (A) 5
(A) 5 (B) 6
(B) 6 ) 8
© 8 (D) 10
(D) 10
29. Twostatements (I & IT) and four conclusions 29. i 9o KIS (1 & 11) @ RIS (AT Fosim
(1,2, 3, & 4) are given below: BRI P (1,2, 3, & 4) (7S 241
Statements : (I) All green are blue e : (1) [ R_e T
(II) All blue are orange D = NeT T
Conclusions : (1) Some blue are green B (1) ﬁ@% &
(2) Some orange are green (2) o 1 T
(3) Some green are not orange
(4) All orange are blue G) ﬁfiﬂ{@ el
Choose the correct answer from the (4) T T T
following options: fsfeie esel @ " St Fe

(A) Only (1) and (4) P

(B) Only (2) and (4) (A) Y (1) 9k (4)

(C) Only (1) and (2) (B) ©¥Y(2) @k (4)

(D) Only (1) and (3) (C) &y (1) 9=k (2)

(D) ®y (1) 93 (3)

[ Please Turn Over ]
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30. Find the missing number in the following
series:
48, 24,72, 36, 108, ?
(A) 115
(B) 216
(©) 121
(D) 54

31. Arrange the following universities as they
evolved, in ascending order, in post-independent
India:

I. Technical University
II. Open University
III. Teacher Education University
IV. Agricultural University
V. Petroleum University
Choose the correct answer from the options
given below:
A) ILIL IV, V,1
B) IV,IL LV, I
©) V,ILIL LIV
(D) 0L L 1v, v, I

32. NEP 2020 recommends to increase the
Gross Enrolment Ratio in higher education
including vocational education in 2018 to the
expected said Gross Enrolment Ratio in 2035

(A) From 24-3% to 45%
(B) From 23-6% to 48%
(C) From 32-6% to 40%
(D) From 26:3% to 50%

33. Which one of the following is essential to
obtain a 4-year UG Honours with
Research Degree?

(A) Securing 160 credits including
12 credits from a research project

(B) Securing 160-credit in general and
12-credit from a research project

(C) Securing 75% marks and above in
the first six semesters

(D) Successfully completing aresearch
project in a minor or major
discipline

[ S e gV o

30. HfTie FiRarer Sge A b
e

48, 24,72, 36, 108, ?
(A) 115
(B) 216
(€) 121
(D) 54

31. TETe-Ter olawE@ FHfEe
MG 8 (ATF NG el
1. Gl 2efreiti
I1. s Tefeiti
1. o5 @y 2efrelfo
V. afdwernae sefreh
V. corgifras et
faferiie Remaf (@@ Tige Ter @3

(A) ILIIL IV, V, 1
(B) IV, IL, I, V, III
(C) V,IILIL L, IV
(D) UL LIV, V, I

32. NEP 2020 T% = @< Jfepwis
PRI ‘2P QRIS (e’ 2018
(A0 2035-9 (T =01 g Aoyl
I ©f ZeT:
(A) 24-3% (A 45%
(B) 23-6% (AT 48%
(C) 32:6% (AT 40%
(D) 26:3% (A 50%

33. B I%EE FISF S 72 s fofal wrercera
Ty TS @ Wy @I AEe 2
(A) @I NI 20 12 (TG 712 160
(T ICs Asfef <5l
(B) ‘(GeIIeT-9 160 (&G € Siaell
A 12 (IO 77 1
(C) 2 =0 GIEROE 75% @ O (I
TG oMeT
(D) @3 Wz W ‘e fohrfae-
9§ AFETI A GF0 5[0 e
AT
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34. Identify from the following the learning
contents in Professional Education Program:
(A) Principles, Skills, Techniques,
Applications and Language
(B) Principles, Practices, Techniques,
Skills and Applications

(C) Core Concepts, Principles,
Techniques, Applications and
Practices

(D) Core Concepts, Language,

Principles, Skills and Applications

35. Studies of Near Eastern and Far Eastern
societies and cultures, language, people, history
and archaeology is known as:

(A) Western Learning
(B) Unorthodox Learning
(C) Oriental Learning
(D) Semitic Learning

36. A young adult who spends considerable
time with video games, social media and other
internet governed activities is called a:

(A) Techi

(B) Screenager
(C) Net-native

(D) Net-migrant

37. Identify from the following a
benefit which Intranet does not
provide:

(A) Cheap, easy and safe service

(B) Share data among consumers without
delay

(C) Secure space to store and develop
applications

(D) High security passwords
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38. Given below are two statements. One is
labelled as Assertion (A) and the other is labelled as
Reason(R).

Assertion (A) : Computer can do computing and
teleconferencing.

Reason (R) : Computer with internet
connectivity and having proper
software can do computing and
teleconferencing.

In the light of the above mentioned statements,
choose the most appropriate answer from the
following options:

(A) Both(A)and(R)are correctand(R)
is the correct explanation of (A)

(B) Only (A) is correct and (R) is not
correct explanation of (A)

(C) Only (A) is not correct and (R) is
also not correct explanation of (A)

(D) Both (A) and (R) are not correct

39. Match the Items of Lisz-1 with the Items of
List-Il and indicate your answer by selecting
appropriate code based on their relevance.

List-1 List-11
(a) Blue Jeans (i) Eric Yuan
Network (2009)
(b) GoTo Meeting (i) Citrix Systems/
(2004) Citrix Online
(c) WebEx Messaging(iii)Krish Ramakrishnan
(WebEx) (1995) & Alagu Periyannan
(d) Zoom Video (iv) CISCO
(2011)
Codes:

(@ () (© (@
A) G @G @Gv) 1)
B) @i aG) Gv) @
©) @Gy Gv) (@) (i)
D) Gv) G @O (D)
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40. Spotting errors and
inconsistencies in data is called:
(A) Data testing
(B) Data weighing
(C) Data cleansing
(D) Data correcting

resolving

41. Identify one of the disadvantages of
Geothermal Energy source from the following:

(A) Good for the environment and reliable
source of Renewable Energy

(B) High efficiency

(C) ‘Little to No’ Geothermal System
Maintenance

(D) Environmental concerns about
greenhouse emissions

42. The Doha Amendment of 2012 is relevant
to which of the following?
(A) The Environmental Protection Act
(B) The Montreal Protocol
(C) The Paris Agreement
(D) The Kyoto Protocol

43. The credit of coining the term ‘Sustainable
Development’ should be given to:
(A) Brundlandt Commission (1987),
WCED
(B) Eva Balfour and Wes Jackson
(C) Colin Powel
(D) Daniel Pauly and Rashid Sumaila

44. Whatdoes ‘NAMA’ stand for in the context
of climate change?

(A) Nationally Appropriate Mitigation
Action

(B) National Assessment on
Millennium Achievement

(C) Nuclear Appropriate Mitigation
Assessment

(D) National Airspace Management

45, Identifyﬁlcéocrlean energy source from the
following:
(A) Coal
(B) Petroleum
(C) Geothermal
(D) Natural Gas
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Read the following passage and answer Question
Nos. 46 to 50:

Today the revolution in biology that

began with the discovery of genes more

than a hundred years ago has led us to
a crossroads. For the first time, recent research on
the fundamental causes of aging is raising the
prospect not merely of improving our health in old
age but also of extending human life span.

Demographicsisdriving ahuge efforttoidentify
the causes of aging and to find ways to ameliorate
its effects. Much of the world is faced with a
growing elderly population, and keeping them
healthy for as long as possible has become an
urgent social imperative. The result is that after a
long period in which it was a scientific backwater,
aging research—or gerontology—has taken off.

In the last ten years alone, more than
300,000 scientific articles on aging have
been published. More than 700 start-up
companies have invested acombined many tens of
billions of dollars to tackle aging—and this is not
counting large, established pharmaceutical
companies that have programs of their own.
This enormous effort raises a number of
questions. Could we eventually cheat disease
and death and live for a very long time, possibly
many times our current life span? Certainly some
scientists make that claim. And California
billionaires, who love their lifestyles and don’t
want the party to end, are only too willing to fund
them.
The immortality merchants of today—
the researchers who propose trying
to extend life indefinitely and the
billionaires who fund them—are really a modern
take on the prophets of old, promising a long life
largely free of the fear of encroaching old age and
death. Who would have this life? The tiny fraction
of the population who could afford it? What would
be the ethics of treating or modifying humans to
achieve this? And if it becomes widely available,
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what sort of society would we have? Would we be
sleepwalking into a future without considering the
potential social, economic, and political
consequences of humans living well
beyond our current life spans? Given
recent advances and the enormous
amount of money pouring into aging research, we
must ask where this research is leading us, as well
as what it suggests about the limits of human
beings.

The coronavirus pandemic that hit the world in
late 2019 is a stark reminder that nature does not
care about our plans. Life on Earth is governed by
evolution, and we are yet again reminded that
viruses have been here long before humans, are
highly adaptable, and will be here long after we are
gone. Isitarrogant to think that we can cheat death
using science and technology? If it is, what should
our goals be instead?

46. What prospect is raised by recent research
in Biology?
(A) Gene discovery and therapy
(B) Revolution in Biology
(C) Improve health in old age and
increase life expectancy
(D) New medicine and surgery

47. Gerontology is the:

(A) Study of old and aging

(B) Knowledge about old people
(C) Search for reasons of death
(D) Study of living and dead

48. What proves that gerontology has become
a vibrant area of research in Biology?
(A) Discovery of genes
(B) Publications and start-up units
(C) Increase in old age homes
(D) Evolution in Biology
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49. What are the consequences the author
foresees about research on old age and extention
of life span?
(A) Funding issues
(B) Hospitalization of old citizenissues
(C) Freedom of life issues
(D) Socio-economic and political issues

50. What, according to the author, the nature
warned the human beings?

(A) Natural virus is everywhere

(B) Nature lives forever

(C) Nature disregards plans of human
beings

(D) Nature protects human beings
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